

Annual Report 2020/21

A collaboration between Merivale Papanui Cricket Club and Burnside West Christchurch University Cricket Club





NWWC Annual Report 2020/21 Season

The collaboration known as North West Women's Cricket (NWWC) between the Merivale Papanui Cricket Club (MPCC) and Burnside West Christchurch University Cricket Club (BWCUCC) continued to draw on the combined resources of the two clubs to support women's cricket from school (Year 5) to adult.

During the off season in the lead up to the summer, the Christchurch Metro Cricket Association (CMCA) approved an application from NWWC for a full entry into the Women's Premier Grade. This was a significant step up from the previous inclusion in only the 16 over Kirsty Bond competition to participation in all three formats of Premier Women's cricket - 16 over, T20 and One Day 50 over cricket. This exciting development ensured a full pathway from juniors to Premier cricket for the NWWC players was secured.

Entry into the Premier grade necessitated the need for the establishment of new coaching strategy to support the players at the highest level. The process of advertising for a coach was completed and the appointment of Hannah Beatson and Nigel Marsh as co-coaches was made. Alongside the coaching decisions Andrew Clayton was appointed as the Premier Grade Manager.

Teams in other grades continued to be coached and managed by parents and volunteers. Mike Dunlop and Bruce Scott provided the majority of coaching support for the Div 1 and Under 16 players with support from Angus McIntosh. Craig Stanley and Helen Hodder managed these two important development teams. During the season Kelvin McKissock came in to support the selection process and did an excellent job of ensuring these teams had the players they needed to compete each week.

Some of our senior players continued to contribute back into the NWWC collaboration by coaching junior teams. Thanks to Molly Dunlop, Hannah Foster, Kate Hastings, Kelly Hodder, Hannah Mackay.

The NWWC Committee again was a diverse group representing the various interests and needs from across all aspects of the collaboration. Thanks to this group for the enthusiasm and commitment that the vital administrative work was attended to throughout the season.

The NWWC Committee

Ross Hastings (Convenor) - MPCC Committee
Shane Young - BWCUCC Committee
Mike Dunlop - NWWC Coaching Support
Angus McIntosh - NWWC Coaching Support
Helen Hodder - NWWC Team Manager
George Ridd - NWWC Team Manager
Theresa Buller - NWWC Team Manager
Kelvin McKissock - NWWC Supporter
Kate Hastings - NWWC Player (MPCC)
Eliza McIntosh - NWWC Player (BWCUCC)
Molly Dunlop - NWWC Player (BWCUCC)

A huge thanks to both clubs, MPCC and BWCUCC, for their support of the women's game. Once again the players appreciated the opportunity to play on home grounds and pitches that were well prepared. The ground staff have been particularly supportive in their efforts preparing practice pitches and game day grounds.

Congratulations to the NWWC Div1 side who came 1st equal in the Shirley Cowles T20 competition and to NWWC Y5&6 "Flash" team who were also 1st equal in their competition.

Each Saturday we are thrilled to have parents and supporters getting behind our teams and also willingly helping out with scoring, warm ups etc where needed. We are also appreciative of the positive support given to all the players in our teams and the opposition. The enjoyment levels of players is significantly impacted by the attitudes and positive enthusiasm shown by the supporters. Thanks to our managers and coaches for reinforcing high levels of sportsmanship through your role modelling.

As a collaboration, NWWC are very pleased to acknowledge sponsorship from New World llam, Lifetime and Cricket Express. Thank you for your support which makes a significant difference to our ability to promote the game and ensure that women can access cricket at their level. Thanks also to Pub Charity for their funding to help pay for equipment, balls and additional uniforms.

We look forward to the 2021/22 season and the opportunity to build on the experience gained. We also look forward to further growth in the female game in both playing numbers and opportunities.

Ross Hastings NWWC Convenor







Premier and Youth Section

NWWC Premier Women's Team - Coaches' Report

This season was the first opportunity NWWC had to enter a team into the Premier Women's competition. With this, came challenges and opportunities which the girls' demonstrated an open mind to and grew holistically as people and players.

We engaged in preseason training opportunities and from here, a squad was named, from which a team was selected each week.

I was impressed with the way the players fronted up to every training and every game with a growth mindset and determination to get better. Success was defined as this growth, aligning with team values and culture.

As the season progressed, we demonstrated improvement, through application and positivity, showing intent, anticipation and innovation. We focused on the process and made progress each week. The Kirsty Bond format was one that we demonstrated greatest application in and results were evident of this.

The season wouldn't have been possible without a number of people;

- Andrew Clayton carried out managerial roles and responsibilities well and the players and I appreciated this.
- It was great to work alongside Nigel Marsh, in his Assistant Coach role and I know the players valued his contribution and input to the season.
- The committee dedicated valuable time to creating these opportunities for the wahine toa.
- The grounds staff at BWCUCC and MPCC ensured we played on high quality pitches and fields. The BWCUCC groundstaff also ensured we had high quality practice conditions. The efforts of these people is very much appreciated
- Finally, the opposition teams and leadership, who welcomed us to this competition and played within the spirit of the game, ensuring most experiences were positive ones.

I'd also like to recognize achievements within the squad, NZ Maori School Girls Team - Ella Gibson and Estella Wallace CCA U19 Women's Team - Libby Stead, Kate Hastings, Molly Dunlop, Nicola Clayton CGHS players (Winners of Gillette Venus Cup 2020) – Kate Hastings, Libby Stead, Estella Wallace, Abby McKissock and Maggie Martin.

End of 2020/21 Season Awards;

Players player: Maddie Morrow Coaches award: Libby Stead.

MVP: Kate Hastings.

This group of players can look forward to an exciting 2021/22 season and with an aim to gain momentum through mahi, will continue to holistically grow as people and players.

Hannah Beatson

NWWC Premier Women's Team - Captain's Report

The 2020/2021 season has been a hard fought, but rewarding one. We have all faced the huge step up of heading into the Premier competition. What appeared as a challenge, we took as an opportunity to improve our game and prove our worth in this grade. We finished fifth in the One Day and Twenty20 competitions, but managed to achieve third in the Kirsty Bond Series.

We came up against some excellent teams in the One Day competition and although finishing winless, improved immensely from where we started from earlier in the season. Our last game of the season we had a close loss to Lancaster Park, scoring our top score of 168 in 45.3 overs and keeping LPCC out there for 39.3 overs and taking 6 wickets, a massive achievement for us against a quality side. We also had some great bowling and batting performances with 3/22 for Abigail Hotton and 3/46 for Nicola Clayton throughout the competition.

The Twenty20 competition was a very short two game campaign for us. Despite this we had Abigail Hotton take 1/13 as well as two very well deserved run outs from the team. We also had Izzy Sharp top score for us at 37.

The Kirsty Bond Series highlighted the talent we have coming through at NWWC and gave the team a real confidence boost. Our first win in 2020-21 Premier season and our first as the Premier Women's team came at about halfway through the season with NWWC winning by 25 runs against LPCC with an outstanding team performance. Coming away from Kirsty Bond, we ended with eight wins and for a period of time had a five game winning streak in the second half of the season. Again we had some great individual performances over the season with the likes of Izzy Sharp scoring 62* and Libby Stead having bowling figures of 3/11.

Our Player's Player this season went to Maddie Morrow for her great attitude (and not so great song choices). Coach's Award went to Libby Stead for this season for her captaincy and leadership of the team and our MVP went to Kate Hastings for her consistent and gritty batting efforts at the top of the order each week.

A massive thanks to Beats for providing us with holistic opportunities, the resources for a positive growth mindset, reminding us to make our grass greener, to focus on the process and the controllables, and to use OAR and not BED. Thanks to Nigel for your technical skills and the opportunities you offered us with extra coaching. The commitment both of you show to the team is unmatched and highly valuable to all of us. Thanks to Andrew for managing this season. It was great to have the scorebook and statistics kept up to date for us, as well as communicating with the players and parents, even if not one of your Dad jokes was funny. Thanks to Kate Hastings and Eliza McIntosh for all their help and assistance they gave me on and off the field. Thanks to the support we had from the club. We are lucky to have a committee dedicated solely to women's cricket and appreciate all the work that goes in behind the scenes. Lastly, to our support crew and parents. The number of supporters we had at each game was unrivalled by any other club. Your support has meant a lot to each of the girls and we are lucky to have such a supportive bunch of people encouraging us on and off the field.

Libby Stead





Premier 1 Day Batting	Matches	Innings	NO	Runs	HS	Average	100	50	4s	6s	Ct/St
Izzy Sharp	7	7	-	86	37	12.29	-	-	11	-	3
Abigail Hotton	7	7	-	82	44	11.71	-	-	3	-	3
Kate Hastings	8	8	-	63	29	7.88	-	-	5	-	3
Maggie Martin	4	4	-	58	31	14.5	-	-	7	-	-
Estella Wallace	7	7	2	57	34	11.4	-	-	2	-	1
Abby McKissock	7	7	-	49	18	7	-	-	3	-	2
Mikayla Nortman	7	7	-	32	18	4.57	-	-	-	-	3
Nicola Clayton	8	8	2	31	13*	5.17	-	-	-	-	5
Libby Stead	7	7	2	19	7*	3.8	-	-	1	-	2
Molly Dunlop	6	6	-	15	6	2.5	-	-	1	-	-
Eliza McIntosh	4	4	1	13	8	4.33	-	-	-	-	1
Maddie Morrow	4	4	1	11	11	3.67	-	-	2	-	3
Hannah Foster	3	3	-	11	7	3.67	-	-	-	-	-
Ella Gibson	2	2	-	8	8	4	-	-	-	-	1
Brydie Washington	8	5	-	6	4	1.2	-	ı	-	-	1
Maggie Hunt	2	2	-	1	1	0.5	-	-	-	-	-

Premier 1 Day Bowling	Overs	Mdns	Runs	Wickets	Average	RPO	5w	Best
Abigail Hotton	41.3	7	170	9	18.89	4.1	-	3/22
Molly Dunlop	34.5	1	127	7	18.14	3.65	-	2/17
Estella Wallace	33	0	169	7	24.14	5.12	-	2/20
Libby Stead	43.3	3	175	6	29.17	4.02	-	2/12
Nicola Clayton	31	1	154	5	30.8	4.97	-	3/46
Abby McKissock	43.4	4	193	4	48.25	4.42	-	1/13
Brydie Washington	28.3	2	152	3	50.67	5.33	-	1/1
Maddie Morrow	2.5	0	12	2	6	4.24	-	1/12
Ella Gibson	9	2	14	2	7	1.56	-	1/7
Mikayla Nortman	11	1	43	2	21.5	3.91	-	2/18
Kate Hastings	1	0	12	0	-	12	-	0/12
Eliza McIntosh	15	1	61	0		4.07	-	0/13
Maggie Hunt	1	0	13	0	-	13	-	0/13

Premier T20 Batting	Matches	Innings	NO	Runs	HS	Average	100	50	4s	6s	Ct/St
Izzy Sharp	1	1	-	37	37	37	-	-	2		-
Maggie Martin	2	2	-	27	27	13.5	-	-	3		-
Abigail Hotton	2	2	-	15	15	7.5	-	-	-		-
Molly Dunlop	2	2	-	14	10	7	-	-	1		-
Nicola Clayton	2	1	1	11	11*	-	-	-	1		-
Maddie Morrow	2	2	1	5	5*	5	-	-	-		-
Mikayla Norton	2	2	-	3	3	1.5	-	-	-		-
Eliza McIntosh	1	1	-	2	2	2	-	-	-		-
Hannah Foster	1	1	-	2	2	2	-	-	-		-
Libby Stead	2	2	1	1	1	1	-	-	-		-
Abby McKissock	2	2	-	0	0	0	-	-	-		-
Brydie Washington	2	1	-	0	0	0	-	-	-		-

Premier T20 Bowling	Overs	Mdns	Runs	Wickets	Average	RPO	5w	Best
Abigail Hotton	6	0	20	1	20	3.33	-	1/13
Molly Dunlop	3	0	7	0	-	2.33	-	0/7
Libby Stead	6	0	27	0	-	4.5	-	0/7
Brydie Washington	1.2	0	7	0	-	5.25	-	0/7
Nicola Clayton	5.1	0	30	0	-	5.81	-	0/12
Abby McKissock	5	0	32	0	-	6.4	-	0/13
Eliza McIntosh	1	0	14	0	-	14	-	0/14

Premier 16/16 Batting	Matches	Innings	NO	Runs	HS	Average	100	50	4s	6s	Ct/St
Izzy Sharp	10	10	2	326	62*	40.75	-	2	26	1	2
Kate Hastings	12	12	1	235	43	21.36	-	-	12	-	5
Abby McKissock	14	12	3	202	44	22.44	-	-	22	-	-
Abigail Hotton	10	9	2	143	36	20.43	-	-	11	-	4
Molly Dunlop	13	10	3	129	38	18.43	-	-	10	-	3
Maggie Martin	9	9	1	126	34	15.75	-	-	16	-	1
Eliza McIntosh	4	4	-	66	24	16.5	-	-	7	-	-
Estella Wallace	9	6	4	62	21*	31	-	-	3	-	-
Maddie Morrow	7	6	-	54	20	9	-	-	3	-	-
Nicola Clayton	13	6	1	45	18	9	-	-	3	-	1
Libby Stead	16	7	1	26	11	4.33	-	-	1	-	2
Mikayla Nortman	4	3	2	18	14	18	-	-	-	-	3
Brydie Washington	6	3	2	17	14	17	-	-	1	-	2
Ella Gibson	2	1	1	4	4*	-	-	-	-	-	-

Premier 16/16 Bowling	Overs	Mdns	Runs	Wickets	Average	RPO	5w	Best
Libby Stead	53	1	288	13	22.15	5.43	-	3/11
Abby McKissock	39	1	218	9	24.22	5.59	-	2/10
Molly Dunlop	36	0	222	8	27.75	6.17	-	2/16
Abigail Hotton	33	2	193	7	27.57	5.85	-	2/22
Nicola Clayton	26.4	0	167	5	33.4	6.26	-	1/11
Estella Wallace	16.3	0	117	4	29.25	7.09	-	1/11
Eliza McIntosh	13.3	0	77	3	25.67	5.7	-	1/11
Kate Hastings	6	0	38	2	19	6.33	-	2/14
Maddie Morrow	9.4	0	64	2	32	6.62	-	2/14
Brydie Washington	2	0	18	0	-	9	-	0/18
Ella Gibson	4	0	36	0	-	9	-	0/7
Maggie Martin	4	0	43	0	-	10.75	-	0/12
Mikayla Nortman	1	0	12	0	-	12	-	0/12

NWWC Youth Teams' Report

This season we saw the return of all our previous season U16 players (10) which was awesome and two new girls, one Year 9 Xenia, and Jiya returning from cricket after a few years.

This did not give us enough for 2 teams but with the intent on development of players we bravely entered a team in both the U16 and U19/Div 1 grades. With the help of byes, girls playing 2 games, the Prem squad, opposition teams with the bye (and even a mum once) we managed to field teams as per the draw. We kept the opposition guessing as to who was going to be playing in the Div 1 team.

The team numbers were significantly bolstered after Christmas with three Year 9's joining us - Olivia, Summer and Piper. Plus 3 girls from the Leeston team asked to join our practices as they only had a 7/8 team (Julia, Paige and Eva). This increased our numbers, so much I was concerned we would have to revert to standing girls down, but it wasn't required, only those unfit or unavailable didn't get a game.

This did allow us to move Eve, Edie, Maisie and Lola up into the Div 1 team to join Hannah M, Hannah F and Kelly so they had better idea on the team makeup each week! Thanks to Bruce and Mike for coaching the girls each week. This has given us a very good platform for next season.

Thanks to Craig for managing and Mark (post-Christmas) supporting the U16 team. Thanks to Kelvin for his assistance selecting the Div 1 team, co-coordinating with the Prem coach and contacting opposition clubs.

Thanks as always to Shane for everything he has done to assist the NWWC Youth teams with gear, coaching and support.

Competitions

U16 - T30 – (Initially 5 then 4 teams in the competition)

8 games were played in this format in the mornings, with the team coming out even - winning 4 and losing 4. We placed 3rd in this competition. There were lots of good bowling performances, putting us in a great position next season when the younger team members will be more experienced on the longer grass pitches.

Lola – 61*and 50*, Eve 50* Maisie 4/22

Div 1 – T35 – (3 teams in the competition)

Whilst we only played 6 games in this format on Saturday afternoons, there were some good games, playing against strong opposition – majority still or previously played Premier cricket. We had one win against Lancaster Park when we managed to get them all out for 63/6 before their additional players arrived from their Premier Game morning game. Maisie 73, Kelly 58 playing for Lancaster Park Edie 2/6

Combined T20 Grade – (7 teams in the competition)

Both teams played 8 games in this competition and the challenge of fielding 2 teams Saturday mornings should not be underestimated. Fortunately there was a bye and Prem Squad players to enable this. The variation in the age and skills between the teams in this

grade was not ideal, however games were played in good spirit accounting for this as much as possible.

Post-Christmas when we were drawn to play NWWC U16 versus NWWC Div 1– we selected 2 combined teams. It was great to see the girls pitting themselves against their team mates, followed by a shared lunch.

The Div 1 team placed first equal with Lancaster Park. Edie 50*, Julia 51*
Maddie M 4/3

Awards - U16

Players Player: Maddi Dempsey Coaches Award: Xenia Prinz MVP: Rebecca Stanley

Awards - Div 1

Players Player: Maisie Bennie-Steel Coaches Award: Eve Doocey

MVP: Edie Maslin

Helen Hodder, Manager



NWWC Youth Statistics 2019/20 Season

T20 Batting	Team	Matches	Innings	NO	Runs	HS	Average	100	50	4s	6s	Ct/St
Edie Maslin	Div 1	8	8	3	128	50*	25.6	-	1	16	-	1
Maddie Morrow	Div 1	5	4	2	112	48*	56	-	-	12	-	2
Olivia Paul	Div 1	5	5	2	108	39	36	-	-	9	-	1
Mikayla Nortman	Div 1	5	5	1	101	32	25.25	-	-	13	-	
Eve Doocey	Div 1	8	7	1	100	25	16.67	-	-	7	-	3
Julia Manton	U16	2	2	1	81	51*	81	-	1	12	-	1
Lola Holbrough	Div 1	7	7	-	67	24	9.57	-	-	5	-	
Rebecca Stanley	U16	7	7	-	57	17	8.14	-	-	5	-	1
Florence Stocks	U16	4	4	2	50	24*	25	-	-	3	-	
Kelly Hodder	Div 1	7	7	-	48	14	6.86	-	-	9	-	2
Hannah Stanley	U16	7	7	1	48	12	8	-	-	1	-	2
Hannah Foster	Div 1	4	4	3	43	22*	43	-	-	5	-	
Ella Gibson	Div 1	4	3	2	41	27*	41	-	-	3	-	
Maddison Dempsey	U16	6	3	2	32	23*	32	-	-	1	-	1
Estella Wallace	Div 1	2	1	1	27	27*	-	-	-	3	-	
Piper Karras	U16	7	5	1	22	16	5.5	-	-	2	-	
Maisie Bennie-Steel	Div 1	7	7	2	20	9	4	-	-	3	-	1
Summer Karras	U16	7	4	1	20	15	6.67	-	-	2	-	
Xenia Prinz	U16	6	5	1	19	12	4.75	-	-	1	-	
Hannah Mackay	Div 1	6	2	-	18	11	9	-	-	1	-	
Abigail Hotton	Div 1	1	1	-	14	14	14	-	-	1	-	
Brydie Washington	Div 1	4	1	1	5	5*	-	-	-	1	-	1
Jiya Narang	U16	5	5	-	3	1	0.6	-	-	-	-	
Paige Robertson	U16	2	1	-	0	0	0	-	-	-	-	
Maggie Hunt	U16	3	1	-	0	0	0	-	-	-	-	1
Eva Moore	Div 1	2	-				-					
Abby McKissock	Div 1	1	-				-					
Maggie Martin	Div 1	1	-				-					2
Isobel Sharp	Div 1	1	-				-					1

T20 Bowling	Team	Overs	Mdns	Runs	Wickets	Average	RPO	5w	Best
Mikayla Nortman	Div 1	16	2	40	5	8	2.50	-	1/5
Maggie Hunt	U16	11.3	-	51	5	10.2	4.51	-	3/13
Lola Holbrough	Div 1	17.1	-	102	5	20.4	5.96	-	2/22
Kelly Hodder	Div 1	12	2	32	4	8	2.67	-	3/10
Maddie Morrow	Div 1	12	1	41	4	10.25	3.42	-	4/3
Maisie Bennie-Steel	Div 1	13	1	80	4	20	6.15	-	2/19
Summer Karras	U16	19	-	111	4	27.75	5.84	-	1/10
Hannah Foster	Div 1	10	1	36	3	12	3.60	-	1/4
Ella Gibson	Div 1	11	2	43	3	14.33	3.91	-	3/16
Brydie Washington	Div 1	11	1	57	3	19	5.18	-	1/5
Rebecca Stanley	U16	19	-	151	3	50.33	7.95	-	2/24
Paige Robertson	U16	6	-	40	2	20	6.67	-	2/21
Olivia Paul	Div 1	12	1	56	2	28	4.67	-	2/5
Edie Maslin	Div 1	16	1	83	2	41.5	5.19	-	1/15
Xenia Prinz	U16	19.2	-	122	2	61	6.35	-	1/18
Piper Karras	U16	18	-	136	2	68	7.56	-	2/17
Maggie Martin	Div 1	3	1	7	1	7	2.33	-	1/7
Estella Wallace	Div 1	3	2	18	1	18	6.00	-	1/13
Hannah Mackay	Div 1	14	-	60	1	60	4.29	-	1/2
Eve Doocey	Div 1	18	1	80	1	80	4.44	-	1/4
Eva Moore	Div 1	1	-	13	-	-	13.00	-	0/13
Florence Stocks	U16	1	-	13	-	-	13.00	-	0/13
Maddison Dempsey	U16	1	1	10	-	-	10.00	ı	0/10
Abigail Hotton	Div 1	3	-	18	-	-	6.00	-	0/18
Hannah Stanley	U16	1	ı	5	-	-	5.00	-	0/5
Abby McKissock	Div 1	3	1	7	-	-	2.33	-	0/7



Div 1 (35 Over) Batting	Matches	Innings	NO	Runs	HS	Average	100	50	4s	6s	Ct/St
Kelly Hodder	7	7	-	103	58	14.71	-	1	18	-	2
Eve Doocey	4	3	1	88	43	44	-	0	10	-	1
Maisie Bennie-Steel	3	3	-	84	73	28	-	1	12	-	
Lola Holbrough	5	5	-	69	40	13.8	1	-	11	-	
Edie Maslin	5	5	-	65	45	13	-	-	8	-	1
Maggie Hunt	1	1	-	48	48	48	1	-	7	-	
Abigail Hotton	2	2	-	47	39	23.5	-	-	6	-	1
Hannah Foster	2	2	2	17	17*	-	-	-	-	-	
Sherri Ball	2	2	-	17	11	8.5	-	-	2	-	
Estella Wallace	1	1	-	15	15	15	1	-	2	-	
Hannah Mackay	5	5	2	14	11*	4.67	ı	-	1	-	1
Maggie Martin	1	1	-	14	14	14	1	-	2	-	
Brydie Washington	1	1	-	13	13	13	-	-	2	-	
Abby McKissock	1	1	-	12	12	12	-	-	1	-	
Rebecca Stanley	3	3	2	9	7*	9	-	-	-	-	2
Julia Manton	1	1	1	7	7*	-	-	-	1	-	1
Maddison Dempsey	1	1	-	3	3	3	-	-	-	-	
Xenia Prinz	1	1	-	2	2	2	-	-	-	-	
Paige Robertson	2	2	-	1	1	0.5	-	-	-	-	
Hannah Stanley	3	2	-	-	-	-	-	-	-	-	
Eva Moore	1	1	-	-	-	-	1	1	1	ı	
Celine McCarthy	1	-	-			-					



Div 1 (35 Over) Bowling	Overs	Mdns	Runs	Wickets	Average	RPO	5w	Best
Edie Maslin	12.5	-	60	4	15	1.76	-	2/6
Rebecca Stanley	4	-	25	3	8.33	5.50	-	3/25
Maggie Martin	5.2	1	8	2	4	4.23	-	2/8
Xenia Prinz	3	-	13	2	6.5	7.33	-	2/13
Abigail Hotton	9.4	2	24	2	12	2.34	-	1/7
Hannah Mackay	9.5	-	56	2	28	2.32	-	1/3
Kelly Hodder	16.4	3	59	2	29.5	1.34	-	1/10
Brydie Washington	5.2	1	10	1	10	4.23	-	1/10
Hannah Foster	8	-	30	1	30	2.75	-	1/14
Maggie Hunt	6	-	37	1	37	3.67	-	1/37
Paige Robertson	6	-	40	1	40	3.67	-	1/23
Lola Holbrough	15.4	-	73	1	73	1.43	-	1/6
Eva Moore	1.1	-	11	-	-	20.00	-	0/11
Julia Manton	3	-	26	-	-	7.33	-	0/26
Maisie Bennie-Steel	5	-	42	-	-	4.40	-	0/18
Hannah Stanley	5.2	-	38	-	-	4.23	-	0/16
Eve Doocey	7	-	50	-	-	3.14	-	0/5
Sherri Ball	7	-	31	-	-	3.14	-	0/8
Abby McKissock	5.2	1	17	-	-	4.23	-	0/17
Estella Wallace	8	1	23	-	-	2.75	-	0/23

Under 16 (30 Over) Batting	Matches	Innings	NO	Runs	HS	Average	100	50	4s	6s	Ct/St
Rebecca Stanley	8	7	4	137	43*	45.67	-	-	13	-	
Eve Doocey	5	5	2	136	50*	45.33	-	1	13	-	3
Lola Holbrough	3	2	2	111	61*	-	-	2	14	-	1
Edie Maslin	5	4	-	81	37	20.25	-	-	4	-	
Florence Stocks	7	6	1	80	35*	16	-	-	2	-	
Hannah Stanley	7	7	-	73	21	10.43	-	-	1	-	1
Maisie Bennie-Steel	6	5	-	46	16	9.2	-	-	3	-	3
Maddison Dempsey	6	6	2	42	21*	10.5	-	-	4	-	
Piper Karras	3	3	-	19	14	6.33	-	-	1	-	
Hannah Mackay	1	1	-	16	16	16	-	-	-	-	
Xenia Prinz	7	5	-	14	7	2.8	-	-	1	-	
Kelly Hodder	1	1	-	6	6	6	-	-	1	-	
Summer Karras	3	2	1	4	2*	4	-	-	-	-	1
Jiya Narang	6	4	-	3	3	0.75	-	-	-	-	
Olivia Paul	2	2	1	0	0*	0	-	ı	-	-	
Eva Moore	2	1	-	0	0	0	-	-	-	-	1

U16 (30 Over) Bowling	Overs	Mdns	Runs	Wickets	Average	RPO	5w	Best
Maisie Bennie-Steel	23.1	1	67	6	11.17	2.89	-	4/22
Edie Maslin	12.3	2	37	5	7.4	2.92	-	2/0
Xenia Prinz	32.2	1	111	5	22.2	3.43	-	3/16
Piper Karras	12	-	68	4	17	5.67	-	2/11
Hannah Stanley	15.4	-	90	4	22.5	5.74	-	2/16
Eve Doocey	16.4	-	55	3	18.33	3.30	-	1/2
Rebecca Stanley	17.2	3	58	3	19.33	3.35	-	1/0
Florence Stocks	16.2	-	50	2	25	3.06	-	1/9
Eva Moore	4	-	7	1	7	1.75	-	1/7
Lola Holbrough	5	-	17	1	17	3.40	-	1/9
Hannah Mackay	4	-	18	1	18	4.50	-	1/18
Olivia Paul	9.2	2	52	1	52	5.57	-	1/30
Summer Karras	12	-	66	1	66	5.50	-	1/42
Jiya Narang	4	-	24	-	-	6.00	-	0/7
Maddison Dempsey	7.1	-	49	-	-	6.84	-	0/3
Kelly Hodder	2.4	-	14	-	-	5.25	-	0/14



NWWC Junior Section

There are so many rewarding parts to being involved in junior sport as an administrator, so much so that the time spent working during the season in the spare bedroom or on the phone are long forgotten.

One of this year's highlights was to see the large number of our players take part in CJCA festivals as well as going to Hagley Oval to support both the Magicians and the Whiteferns as well as sharing those photos with our cricket community to reflect the enjoyment the players are getting from the sport.

Junior Prizegiving was terrific this season and I would like to thank Jacinta Savage on crutches for agreeing to attend our prize giving and face some tough questions from the audience. Thanks to Merivale-Papanui CC for hosting us this year and to Matt Hastings for taking photos.

There are so many people to thank who when called upon to help out always manage to say yes and to help, these include other club members, sponsors and in particular I would especially like to thank our parents, the super organised mums who start of commenting they know nothing about cricket and at the end of the year are explaining the rules about free hits to the Dads. All the Dads who offer to help coach, umpire and play cricket with their Daughters, one of those Dads is Murray Hawes who had indicated that this might be last year for him and Shire, (this is not the first time I have heard this - let's see what spring brings) but if it is, Murray you are legend.

I like enjoyment in junior cricket and we had it spades this year, however this year were also very privileged to have Summer & Piper Karras and Olivia Paul represent CJCA in the south island girls tournament and to have Liv captain that side to final over win, on Burnside Park will be a terrific memory for me for a long time.

All the best for your winter sport and I look forward to seeing everyone in the summer.

Shane Young
Junior Convenor



NWWC Year 5/6 "Flames"

The Year 5 / 6 Flames had a great season with many of the players playing their first year in the Year 5 / 6 girls grade (or playing cricket at all!). Over the season they had a huge learning curve to learn the rules of the game and develop their batting and bowling skills.

Our season included some close wins and closer losses along with lots of smiles and laughs along the way. Some highlights included many firsts for everyone including wickets, boundaries and even a few max zone boundaries. Over the season everyone improved so much in skills and confidence and it will be so exciting to see these girls play in the future.

A huge thank-you to all the parents for their part in helping the girls play - for the umpiring, scoring, sideline coaching, general corralling and pep talks - thank-you for an amazing season!

Theresa Buller



NWWC Year 5/6 "Flash"

An awesome season by a very enthusiastic and spirited Year 5/6 Flash Team. They started strongly, winning all nine games against every team in the grade pre-Christmas while improving their skills and confidence with every game. The second half of the season saw the girls put into the top division which provided more competition every week and the girls thrived even further. A couple games didn't quite go their way in that half of the season giving some good learning opportunities and also a greater appreciation of being gracious in both winning and defeat.

The girls developed their friendships throughout the season and their love of the game - exactly what it should be about at their age. They were a pleasure to manage and a big thank you to the parents who came along each week to support the girls. Also thank you to Murray. Stu and Scott for helping out with the umpiring and of course to Murray his coaching and organising of the girls on Saturday!

A brief mention about each of the players and their contributions to the team:

- Aimee always a big contributor with both bat and ball and brought infectious energy to every game.
- Divija a huge improvement over the season from not having played much prior. Some wonderful moments throughout the season.
- Hayley always scored well with the bat and was particularly dangerous hitting from the tee sending the fielders a long way to retrieve the ball.
- Lee-ann great accurate bowling all season and some awesome hitting back over the bowler's head.
- Melissa great improvement over the season. Favourite moment when Murray offered a cheeseburger for a boundary and she duly hit one.
- Michaela surprised the opposition with her fast bowling and took many wickets throughout the season.
- Nicole quick between the wickets and in the field where she loved running the ball in. to effect run outs.
- Shire confidence and skills grew all season and some wonderful moments in the field during tight games.
- Ruby improved hugely over the season with both bat and ball, and always smiling.
- Sophie energetic, enthusiastic and always brought some fun to into the team every game.

George Ridd Team Manager



NWWC Year 7/8 "Heat

I had the pleasure of managing this fantastic, energetic, enthusiastic group of young ladies this season. While we may not have finished anywhere near the top of the leaderboard based on the number of wins we had, we could have finished top for excellent sportsmanship, having a positive attitude and having fun. I was especially proud of the way all the girls gelled when both Year 7/8 teams combined after Christmas. Each and every one of the girls in our team contributed, improved and were great team players.

A few stand out players were Louise, Emma, Sophie, Makayla and Izzy.

Louise contributed to every facet of the game. She shared the keeping role, had some great wicket assists in the field, took the greatest number of wickets over the season for our team, was not out or retired 9 out of the 15 times she played, and while she was not always scoring lots of runs, she contributed to some very valuable partnerships.

Emma was the hard hitter of our team. She hit 23 fours; her highest score was 28. Emma demonstrated excellent sportsmanship and was an awesome team player, she was polite, courteous and respectful.

Sophie brought a burst of energy onto the field. She demonstrated great leadership skills. She was always encouraging and supportive of both her own teammates and of those in the opposition. She was extremely energetic and positive in the field. An interesting point to note is that Sophie played the first and last game of the season for the opposition.

Makayla and Izzy were new to cricket this season. They embraced the hard ball and took many knocks over the season. At times there were tears, however as the season went on, the tears were replaced by smiles and high fives. The improvement both girls made was clear for all to see. They worked hard at training and at home.

After Christmas half of the year 7-8 spark team joined us. They brought experience and knowledge of the game with them and for that we are very grateful. We even managed a couple of wins during the second half of the season! We would like to especially thank Lucy and Ruby for their huge contribution to our team.

Lucy, put her hand up for every opportunity. She shared the keeping role with Grace and Lou, she was inspirational in the field, she took a couple of wickets during her 7 games with us and hit 8 fours. She also had the second highest score with 27 not out. Ruby had amazing leadership skills. She was a great team player and a fabulous all-rounder. Ruby also brought a positive, upbeat vibe to our team. She took 3 wickets in the 4 games she played for us and hit 8 fours.

I also want to acknowledge Hannah, Molly, Kate and Bruce, for giving up their Tuesday afternoons to coach these lovely young ladies. Special thanks also goes to Andrew, Barry, Stu, Richard, Markham, Carter and Matt for sharing the umpiring role on Saturdays, never an easy job, especially with all the banter coming from the enthusiastic supporters on the sideline. I would also like to acknowledge Matt, who scored almost every game for us and Jen for managing the team in my absence.

I would also like to thank Murray for the significant contribution he has made to Burnside and NWWC and wish him, Shire and all his family all the best for their next sporting ventures.

That leaves me with Shane. Shane is a legend. The hours that he pours into this club are phenomenal. I felt a massive sense of pride at the Summer CJCA tournament in March 2021. It was a sea of NWWC tops. The club is going from strength to strength because of his dedication, passion and commitment. Thanks, from the bottom of our hearts for everything you have done for all the inspiring White Ferns at NWWC.

Stu and Theresa Pearson





NWWC Prize Winners 2020/21 SEASON

Club Trophies

Service to NWWC	Helen Hodder
Contribution to NWWC Senior Cricket	Andrew Clayton
Contribution to NWWC Youth Cricket	Kelvin McKissock
Contribution to NWWC Junior Cricket	Theresa and Stu Pearson

Team Trophies

NWWC Premier	MVP	Kate Hastings
	Players' Player	Maddie Morrow
	Coach's Award	Libby Stead
	Premier Appreciation Award	Shane Young
NWWC U19/Div 1	MVP	Edie Maslin
	Players' Player	Maisie Bennie-Steel
	Coach's Award	Eve Doocey
NWWC U16	MVP	Rebecca Stanley
	Players' Player	Maddie Dempsey
	Coach's Award	Xenia Prinz
NWWC Special Junior Award	Canterbury U14	Olivia Paul
	Canterbury U14	Summer Karras
	Canterbury U14	Piper Karras
NWWC Y7&8 "Sparks"	MVP	Lucy Dawson
	Players' Player	Ruby Price
NWWC Y7&8 "Heat"	MVP	Louise Pearson
	Players' Player	Emma Cox
	Players' Player	Sophie Pearson
	Coach's Award	Izzy Wood
	Coach's Award	Makayla Capon
NWWC Y5&6 "Flash"	MVP	Michaela Yoon
	Players' Player	Aimee Muncaster
	Coach's Award	Ruby Donaldson
NWWC Y5&6 "Flames"	MVP	Claudia van Grunsven
	Players' Player	Isla Petitt
	Coach's Award	Tilly Friend
	Coach's Award	Olivia Jennings

Izzy Sharp's performances ensured she was named in the Canterbury Metro Cricket Association Women's Premier Team of the Year





NWWC Players' Higher Honours 2020/21 Season

Higher Honours

Team/Opportunity	Name
South Island Primary Schools Tournament	Olivia Paul Summer Karras Piper Karras
CJCA U14 Girls' Team to Auckland	Olivia Paul Summer Karras Piper Karras
Canterbury Under 19	Kate Hastings Molly Dunlop Libby Stead Nic Clayton
Canterbury	
New Zealand Māori Secondary Schools	Ella Gibson Estella Wallace

CMCA and **CJCA** Festival Tournament Participation

Team/Opportunity	Name
CJCA Spring Tournament	Molly Buller Sophie Pearson Louise Pearson
CJCA Summer Tournaments	Lee-Ann Martin Ruby Donalson Divija Gopalakrishnan Molly Buller Hayley Donaldson India Buchanan Aimee Muncaster Sophie Lambie Lucy Dawson Sophie Pearson Louise Pearson Nicole Ridd
Future Magicians Festival (Secondary School)	Abby McKissock Maddie Morrow Lola Holbrough Estella Wallace Ella Gibson Addison Stackhouse

